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Of2 32 OJAFZE T2 M|A (MDP)

- 254 T 7=t 2| special case
* Deterministic DP vs. Stochastic DP

- -

state reward action

.Of23aH- w?d;u uEk"A_ | =
5., | Environment |e———

» Markov Decision Processes (MDP)= Zslet52| 45t
AI7|1=

A
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MDP2| /144

{T,S, A, p:(|s,a),1:(s,a),y:t eT,s € S,a € A}
« T € [0,00): O|JAIZ A A|A (decision epoch)=2| ¢ict
o (2 O|AFEA ASI0||AN) OAFA A7} OAFE A S St ol
&= Flot= AlE
« T7} O|AF(discrete)O|™, THA|(stages)=2| &gt
« T7} O_Pﬁﬁ.(flnite)‘ﬂll —,—<.>_P°._P(|nf|n|te A|Of| L2t finite-
horizon 22 infinite-horizon MDPE L&
« T7t o8 A0l B2 OFA[S SIAFEE Al MM = SAHEE
0l gig
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MDP2| /144

{T,S, A, p:(|s,a),1:(s,a),y:t €eT,s € S,a € A}

« S: ME[EZt (state space)
 3lZ(environment) 2 22 715SH AtEjo| RlIGto 2,
Ate| i (action)= 7E:'7é;|o|-E O 2 Q35 2|ASto| A
- 2E11H0| F[5t= 7|-50| sk

+ Q2= F2 57H0IMY FE0I WEO BT

|O

AHEE

oIl

Hz=-27t (action space)
%‘,'( nV|ronment)9.| AE}7} s € S I} 7+t ell=(action)
O

AISkH
HHdJ

c A S

mn rﬂ'

MDP_7H2 4



MDP2| + 824

{T,S, Ag,p:( |s,a),1:(s,a),y:t eT,s € S,a € A}

* p:(s'|s, a): HEJZO0|2tF (state transition . |

3 S
probabilities) o //,' i
« S HEff s Of| M WS a5 S, I 2 f*
06— S
CHS S|AFZH AlEo] AfEl 5'0] P T
Ol 2A|E 7 " g
a. —— !
o O:IAl CHA| ¢ CHAl e+ 1
- RUA| ZHEIA:O|T|Z O|FA| ZE > U|H QAR|SHA| ZEHAE
ol ZE
- SOt SAS HSX| ZY > SN HSe| St g 10 T
HLHO| HE
« AMAE: TS HOIUFE MR 2Y S HEE 1 R0 =8
Y EN
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MDP2| + 824

{T,S,Ag,p:(- |s,a),r:(s,a),y:t €T,s € S,a € Ay}

* 1:(s,a): B4 (rewards)
* OIAHZEE A[E tO| M A|ARLS| HEHZs & I, WS aE FH
= I 2tE0 2 BE HA| k|= Haf 7|tk

* Tt (SJ a, S,)QE _zl'_o-lzlﬁ

* 1:(s,a) = XoresPe(s'ls, a)ri(s,a,s")

e ry(s): finite-horizon MDPO{|A{ OFA| 2 CHA| 7} N [} T2 A|
ATFAE] sO|M &2 A| &|S6H| El= EA (terminal reward)
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MDP2| + 824

{T,S,A.,p:( |s,a),1r:(s,a),y:t €eT,s €S,a € A}

* y: 2471 (discount factor)
o« S| 2 4= Ql= HAO| O|2H0]| = HAECE7FR| 7t =Ch=
(HHC 2 251 O|2fe] BAML Sl o] HALELC} 7Hx|7F STt
= A2 2|0|5t=) 7HE

. IJIEH01I 5HA 2 24 EH°*%§.* S ot Az E 79
t +1 t+2
| : | >
$1
Sy € — > $1
Sy’ € — > Sy <€ — > S$1

“S1 today is worth more than 51 tomorrow”
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3 HHPolicy)

« O|AFZ A 112! (Decision rule) 6,
o 0-||0|Z-|E O|A|.7=|Z-Ij\|- 7|- O|A|.7=|1-I A'Z-I to'” A'J\Eé! |
FOIAE f] oot WSS Foloret | Y=gt

Probabilistic
History-dependent HD HP
Markovian MD MP I
8:(5) &¢(als)

42 (Policy) 7
« D= O|AMAY A[HO|A L] EHL| CAIE A 2S¢
81,8,,85, ... 25t
- ik = OAEA A|MO0|[AM S Yok OJAIE 2
CHH 42 7} QA (statlonary)OIEf U4
T =67

SEHO

I]|0 0_..
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